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Instructions
NEW Marking Scheme and Evaluation Format

Total marks for the examination:  70

Total time duration for the examination: 1 hour and 30 minutes

Breakup of questions:

SECTION I: OBJECTIVE

Duration: 1 hour
44 MCQ QUESTIONS: Each question bears 1 mark each, there are 6 Leaf marked questions which bear 2 marks each.

Total marks for SECTION I is 50

These 6 sub-heads for SECTION I are as follows:
Flora – Plant life; 9 questions including 1 Leaf question
Fauna – Animal life; 9 questions including 1 Leaf question
Terra – Geography and environment ; 9 questions including 1 Leaf question
Aqua – Aquatic life and water bodies; 4 questions including 1 Leaf question
thInQ – Logical reasoning; 4 questions including 1 Leaf question
Mixed Bag – General awareness on environment and natural world; 9 questions including 1 Leaf question

All questions are multiple choice questions with four options – A, B, C and D Mark the correct or most
appropriate answer in the OMR (answer) sheet.

Using a dark pencil or a dark-inked pen, colour the correct option completely,  
as shown on the OMR (answer) sheet.

SECTION II: SUBJECTIVE
 
Duration: 30 minutes
1 Picture Composition

Total marks for SECTION II is 20

Turn over the OMR sheet provided to you and write in the space provided.  
You can attach an extra sheet signed by your invigilator if you need more space.

You can only use a black pen to write the composition. Both gel or ball point pens are allowed.
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1. This tree genus was named after two brothers, the 
Bauhin brothers. They were twins, both were botanists 
and the tree was thus named because the leaves 
somewhat represent their relatedness. Which tree’s 
leaves?
A) Pagoda tree
B) Drumstick pod tree
C) Camel foot tree
D) Banyan tree

2. Plants which cannot stand upright and take support 
of the  neighbouring structures are called ____.
A) Supporters
B) Climbers
C) Twirlers
D) Hikers

3. Plants get their colour from the different pigments 
in them. Match the following pigments to the colours 
they impart to the leaves. 
Pigment			  Colour
1) Chlorophyll		  a) Yellow & Orange
2) Xanthophyll		  b) Green
3) Anthocyanin		  c) No colour
4) Starch		  d) Blue & Purple
A) 1-a, 2-b, 3-c, 4-d
B) 1-b, 2-c, 3-d, 4-a
C) 1-d, 2-a, 3-b, 4-c
D) 1-b, 2-a, 3-d, 4-c

4. Bananas are monocots or dicots?
A) Monocots
B) Dicots
C) Could be either, depending on which part of the world 

it’s found
D) Neither, they are gymnosperms

5. In which continent are grasslands called Pampas?
A) Australia
B) South America
C) North America
D) Africa

6. Arrange the following states/union territories based 
on the percentage of area covered by mangrove 
forest, starting with the maximum first: Gujarat, West 
Bengal, Andaman & Nicobar Islands, Orissa 
A) West Bengal, Gujarat, Andaman & Nicobar Islands, 

Orissa
B) Andaman & Nicobar Islands, West Bengal, Gujarat, 

Orissa
C) West Bengal, Andaman & Nicobar Islands, Gujarat, 

Orissa
D) West Bengal, Orissa, Andaman & Nicobar Islands, 

Gujarat

7. In which of the following group of plants is wind 
pollination common?
A) Orchids
B) Legumes
C) Lilies
D) Grasses

Flora

Fauna

8. Plants that reproduce by spores like ferns and 
mosses are categorized under the term_______
A) Sporophyte	 B) Bryophyte
C) Thallophyte	 D) Cryptogram

9. Clove is a spice used to cure pain in the gums, from 
which part of the plant is it obtained?
A) Fruit		  B) Stem
C) Flower bud	 D) Flower

10. Which animal’s baby is known as a ‘cygnet’?
A) Elephant	 B) Swan
C) Rabbit	 D) Rat

11. From which of the following Latin words does the 
cat derive its name?
A) Gata		  B) Tigris
C) Rana		  D) Ovis

12. Flying fox is a species of mammal that eats 
primarily of on fruits and distributes seeds all across 
the landscape. They are found across the tropics and 
mainland India has one species. What mammal?
A) Rats		  B) Deer
C) Bat		  D) Elephant

13. Owls have soft feathers all over their bodies, even 
on their legs. What purpose do these soft feathers 
serve? 
A) Their circulatory systems are not as robust as other 

types of birds and they need the extra covering for 
warmth.

B) It is a characteristic that is no longer needed by the 
species and is disappearing through the process of 
natural selection

C) This enables them to fly silently, making it easier to 
hunt prey

D) All of the above

14. Flying squirrels are species of squirrels found 
across the tropical world. Why are they called so?
A) They have feathers that help them fly
B) They have a flap of skin that’s helps them glide
C) They have a tail that guides them along
D) Their winged toes are sufficient to glide

15. Match the following animals with the body part for 
which they are poached 
Animal			   Body part
1) Bear			   a) Bones
2) Tiger			   b) Gall Bladder
3) Rhinoceros		  c) Beak
4) Hornbill		  d) Horn
A) 1-a, 2-b, 3-c, 4-d
B) 1-b, 2-c, 3-d, 4-a
C) 1-d, 2-a, 3-b, 4-c
D) 1-b, 2-a, 3-d, 4-c

16. Martens, weasels, and polecats are all closely 
related animals. How would you best describe their 
niche?
A) Terrestrial		  B) Arboreal
C) Terrestrial & Arboreal	 D) Aquatic

SECTION I  Duration: 1 hour  Marks: 50
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Terra Aqua

17. Amphibians croak in order to_______
A) Make other frogs alert about the danger
B) Energize themselves
C) Attract mates
D) Avoid hunger

18. Which out of the following is present in all 
chordates?
A) Cranium		  B) Spine
C) Vertebral column	 D) Notochord

19. The Giant Sequoias are the largest trees in the 
world. In which part of the world do they grow?
A) Sierra Nevada, USA
B) Western Ghats, India
C) Appalachian Mountains, USA
D) Andes, Argentina

20. India has two deserts. The hot desert is located in 
the state of Rajasthan. 
In which state is the cold desert located?
A) Jammu & Kashmir	 B) Himachal Pradesh
C) Arunachal Pradesh	 D) Uttarakhand

21. What could be one of the reasons for the sea levels 
being higher during the ice ages?
A) Due to large number of glaciers entering the oceans
B) Because a lot of land sinks into the oceans
C) Colder water is denser hence sea levels rise
D) The volcanic activity on the sea floor pushes the water 

upwards

22. Which mountainous country has a flag that is not 
a square but instead two triangles attached to one 
another?
A) Bhutan	 B) Austria
C) Peru		  D) Nepal

23. Tropic of Cancer is found 
_________________________.
A) In Northern Hemisphere
B) In Southern Hemisphere
C) On the Equator
D) None of the above

24. The Chernobyl Disaster was a nuclear accident 
which left thousands affected by radiation. This site 
was never visited again and abandoned – today, the 
area has some very good wildlife such as wolves, elk 
and foxes. In which present-day country is Chernobyl 
located?
A) Uzbekistan	 B) Ukraine
C) Kazakhstan	 D) Mongolia

25.  Why do mountaineers climbing tall mountains 
carry oxygen cylinders? 
A) In case somebody get injured and needs an operation 

they can use it
B) Air is thinner on tall mountains and difficult to breath, 

hence they carry oxygen cylinders
C) Oxygen supports burning and they use this oxygen to 

cook food
D) Oxygen cylinders look cool with other mountaineering 

gear and hence they are carried

26. Continents all over the world have drifted apart 
because of______
A) Faulting of rocks
B) Drifting of tectonic plates
C) Volcanic eruptions 
D) All of the above 

27. How many islands together form the group of 
Lakshadweep Island?
A) 32 		  B) 30
C) 36 		  D) 34

28. How do fish survive in artic even though Ice 
freezes over the water?
A) Fish have special anti-freeze in their blood
B) Water below ice doesn’t freeze mostly
C) No fish live in there in winter as water freezes
D) None of the above

29. Most of the oil that we use is imported into our 
country from other nations. The oil is carried in huge 
sea-going tankers. Sometimes these tankers get 
damaged and the oil leaks into the oceans and seas, 
causing a lot of damage to the environment and 
the marine creatures. What is such an accidental 
discharge of oil into water bodies called?
A) Water Pollution	 B) Oil Spill
C) Oil Leak		  D) Tanker Leak

30. Every year, thousands of us swim upstream to 
mountainous shallow lakes and rivers to breed& lay 
eggs and then we die. The eggs hatch and the small 
fish (called fry) grow up and swim to the ocean, only 
to return as adults and go through the same process. 
Which fish am I?
A) Trout		  B) Piranha
C) Salmon	 D) Arapaima

31. Arrange in the correct order of growth : froglet, 
egg, tadpole, frog
A) Froglet – Egg – Tadpole – Frog
B) Egg – Tadpole – Froglet – Frog
C) Egg – Tadpole – Frog – Froglet
D) Tadpole – Egg – Froglet – Frog

thInQ
32. Pointing to a photograph of a girl, Rajan said, 
“She has no sister or daughter but her mother is the 
only daughter of my mother.” How is the girl in the 
photograph related with Rajan’s mother? 
A) Sister-in-law		  B) Granddaughter
C) Daughter-in-law	 D) None of these

33. A, B, C and D live in a building having 8 floors, 
A lives two floors above B) C lives on the 8th floor 
immediately above A) D neither lives immediately 
above nor immediately below B) The first 2 floors of 
the building are vacant. On which of the following floor 
does D live?
A) 1st floor	 B) 7th floor
C) 4th floor	 D) 3rd floor
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Mixed Bag

34. A bus travels 126km in 3 hours and a train travels 
315km in 5 hours. The ration of their respective speeds 
is _____.
A) 2:5		  B) 2:3
C) 5:2		  C) 25:6

35. Mark the correct answer

 
A) 213		  B) 217
C) 212		  D) 216

36. There are very few animals that cannot sweat. 
Which of these cannot?
A) Pigs and Goats
B) Goats and Elephants
C) Pigs and Elephants
D) Goats, Pigs and Elephants

37. Which of the following are correct practices?
A) Allowing waste water to stagnate in a puddle
B) Not allowing factory effluents to mix with drinking water
C) Burning plastic and rubber waste
D) Separating biodegradable waste during garbage  

disposal
E) Throwing thermocol and plastic in the open
A) None are correct
B) b & d are correct
C) a, c & e are correct
D) All are correct

38. Neutron was discovered by________
A) Marie Curie 
B) Rutherford
C) Chadwik
D) Newton

39. Match the gases with the percentage in which they 
are present in the Earth’s atmosphere –
Gases				    Percentage
a) Nitrogen			   1) 1%
b) Oxygen			   2) 21%
c) Other Gases			   3) 78%
A) a-3, b-2, c-1
B)a-1, b-3, c-2
C) a-3, b-1, c-2
D) a-2, b-3, c-1

40. Sir William Ramsay discovered which out of the 
following?
A) States of matter 
B) Periodic table 
C) Inert gases
D) Theory of relativity

41. In which year was Project Tiger launched?
A) 1973
B) 1984
C) 1995
D) 2001

42. Wildlife photography is a branch of photography 
that deals with taking pictures of animals and plants in 
their natural habitat. Wildlife photographers must take 
extra precautions while clicking photos in the wild. 
Which of the following is NOT a precaution to be taken 
by a wildlife photographer?
A) Nest photography must be avoided, and if taking 

photographs of nests, extreme care must be taken
B) One must chase animals until they are exhausted to 

take good photographs
C) The rules of the jungle are more important than taking a 

good photograph
D) Geo-tagging of photographs of the highly endangered 

animals must be avoided

43. Asian and African elephants are very different 
in many ways, but one of the differences has made 
African elephants much more at risk to poaching than 
Asian elephants. Which difference?
A) Asian elephants have a convex back while the 

backbone of an African elephant is concave
B) Asian elephant ears are much smaller than African 

elephant ears
C) Only male Asian elephants have tusks while both 

genders of African elephant have tusks
D) Trunk end has two fingers in the African elephant and 

one finger in the Asian

44. Symbiosis is the process where two species 
depend on each other for survival, whereby the 
actions of one benefit the other. Match the following 
symbiotic species 
Species 1		  Species 2
1) Algae			   a) Sea Turtle/Big fish
2) Cattle Egret		  b) Langur
3) Chital			  c) Cattle
4) Cleaner Wrasse	 d) Fungii
A) 1-a, 2-b, 3-c, 4-d
B) 1-b, 2-c, 3-d, 4-a
C) 1-d, 2-a, 3-b, 4-c
D) 1-d, 2-c, 3-b, 4-a
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SECTION II Duration: 30 minutes Marks: 20

Write about what the cartoon is trying to say and why it is important for us  
in the world we live in. 

Marks will only be given for content and original expression and not for style, 
vocabulary or handwriting.

Copyright:
Unauthorised reprint or use of this material 
is prohibited. No part of this paper may be 
reproduced or transmitted in any form or by 
any means, electronic or mechanical, including 
photocopying, recording, or by any information 
storage and retrieval system without written 
permission for the publishers.

www.facebook.com/saevusNature www.twitter.com/saevus_wildlife

Saevus Wildlife India LLP, 302, 3rd floor, Powai Plaza, Hiranandani Gardens, Powai,  
Mumbai - 400076. Phone: +91 022-40660100 Email:  olympiad@saevus.in
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